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QUESTION 1

A GIS assistant is creating a new one-way, parent-to-child replica

There are 10 feature classes adds to ArcMap, and the Create Replica wired completes successfully.
However only 8 feature classes were replicated to the child goedatabase.

What should the GIS assistant confirm in the 2 missing feature classes before calling Esri Support?
A. The All Features option was used in the Create Replica wizard.

B. The map document was NOT zoomed in to exclude the 2 feature classes.

C. The feature classes are registered as version and have Global IDs.

D. The connection between the parent and child is stable.

Correct Answer: C

QUESTION 2

AS company has the following requirements for data editing:

Check Topology rules on features classes after they have been edited. The current production Postgres
database must be used changes. Which workflow can the administrator perform to meet the
requirements?

A. Run Enable Enterprise Geodatabase

B. Right-click Database Server > Select Add Database Server

C. Create a new workgroup geodatabase

D. Create a desktop geodatabase

Correct Answer: A

QUESTION 3

What must an administrator do to more rows from the data tables to the business tables of a feature class?
A. Reconcile and post all versions

B. Disconnect all users

C. Compress the geodatabase

D. Delete all versions

Latest EGMA105 Dumps | EGMA105 PDF Dumps | EGMA105 Practice Test


https://www.pass2lead.com/egma105.html
https://www.pass2lead.com/egma105.html
https://www.pass2lead.com/egma105.html

P 2L d https://lwww.pass2lead.com/egmal05.html
aSS ea 2023 Latest pass2lead EGMA105 PDF and VCE dumps Download

—— https://Pass2Lead.com

Correct Answer: C

QUESTION 4

Which option will improve performance hen drawing a map full extent?
A. Scale dependency

B. Attribute index

C. Spatial index

D. Relationships

Correct Answer: B

QUESTION 5

The performance of a non-versioned enterprise feature class starts to design after several month of
editing.

What maintenance task should be applied?

A. Reconcile

B. Post

C. Compact

D. Rebuild indexes

Correct Answer: D

QUESTION 6

A database administrator wants to enable goedatabase functionality on the current production database.
Another user will be in charge of goedatabse administrator but the user does NOT currently exist in the
database.

Which tool can the database administrator use?

A. Enable Enterprise Goedatabase

B. Register with Goedatabase

C. Create Enterprise Goedatabase

D. Import Goedatabase Configuration keyword
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Correct Answer: D

QUESTION 7

What is a result of a geodatabase compress operation?

A. All states that participate within a version lineage are deleted.

B. Rows in the data tables are moved to the business tables.

C. Multiple versions are collapsed into a single version.

D. The instance\\'s state-tree configuration is committed into memory.

Correct Answer: A

QUESTION 8

A publisher needs to create a map service that references data from an enterprise geodatabase. The enterprise
geodatabase uses Operating System authentication. Which user account must be granted permission to access the
data?

A. Data owner

B. Geodatabase Administrator

C. ArcGIS Server

D. Primary Site Administrator

Correct Answer: C

QUESTION 9

Which reconcile option should selected to detected all no level conflicts?
A. By object

B. By attribute

C. By root

D. By class

Correct Answer: B

QUESTION 10

What can be used to import the performance of join in map?
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A. Use a related instead of join

B. Add an attribute index on the filed

C. Create a Definition Query on the joined layer
D. Rebuild the spatial index

Correct Answer: A

QUESTION 11

Every time a user adds a database view to the map document, the ArcGIS client prompts the user to
specific a unique identifier and spatial reference.

What could the geodatabase administrator do to prevent this prompt?

A. Register the view as versioned

B. Unregistered the view as versions

C. Unregistered with the goedatabase

D. Register the view with the geodatabase

Correct Answer: B

QUESTION 12

An administrator enables archiving to a versioned feature class. A user to view stages of a project that have been
recorded in the geodatabase at specific data and times. What should the administrator recommend to make these
stages easier to find?

A. Transactional versions

B. Historical markers

C. Editor Tracking

D. Attachments

Correct Answer: B

QUESTION 13
Each morning GIS analyst receives a new shapefile that needs to be migrated into an enterprise
geodatabase as a new feature class.

Which data transfer method should the GIS analyst use?
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A. Simple Data Loader

B. Object Loader

C. Feature Class to Feature Class
D. Append

Correct Answer: A

QUESTION 14

What is require to add a new filed to a feature class in an enterprise geodatabase?
A. Exclusive state lock

B. Shared state lock

C. Exclusive schema lock

D. Shared schema lock

Correct Answer: C

QUESTION 15

A user requires permissions to create data in an enterprise geodatabase. Where should these permissions be granted?
A. Features class

B. Relational Database Management System

C. ArcGIS License Manager

D. Database Connection properties

Correct Answer: A
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